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Direction : Answer the following questions by
selecting the correct option.

1.

If x satisfies the inequality
|x -1|+|x-2]+|x-3|= 6
then

(A) 0<sx<4
B) x<Oor x=4
(C) x<-2o0orxz4

(D) None of the above

If p2+q2 =1 and m? + n? =1, then
(A) | pm+gn|<0
(B) [pm+gn|<1
(C) |pg+ mn|>1

(D) |pg+ mn| <2

In an investigation of 1003 families
of Agartala, it is found that 63
families have neither a mobile nor a
laptop, 794 families have a mobile
and 187 a laptop. The number of
families in that group having both a
mobile and a laptop is

(A) 41
(B) 40
(C) 22
(D) 20

Aot AoF Teq TS F@ Mo oasfR
Teq me |

1. ‘«Tﬁx,

|x -1|+|x-2|+|x-3|= 6
N P ¢, o=
(A) 0<x<4

B) x<OIAM x =>4
C) x=<-29C x =24

(D) TR FIbE .

W p?+gi=1 @R m?>+n?=1 %2,
O

(A) | pm+gn|<0

(B) |pm+gn|<1

(C) |pg+ mn|>1

D) |pg+ mn|<2

Teeed 1003 o v I @3

.ﬂﬁwmcmwma63%°®m@a$mmﬁ

aFH RS A e (e, 794
ARAIE @O FE (TEEA @R 187 6
AT @0 FCE B2l IR | ToBf
AT @O (TAIZS € GFo (57
TeH3 ARO[ R TF

(A) 41
(B) 40
(C) 22
(D) 20
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4. Which of the following sets is not

finite?

(A) P={a:a is a colour in the
rainbow}

(B) OQ={Db:bis a page of
Mathematics book}

(C) R={c:c is one of the oranges
produced at Jampui hill
in 2016}

(D) S={d:d is a star in the
Universe}

Let

A={x:x is a prime number less
than 21}

and B ={x :x is a positive odd
integer < 20}

Then B A A is
A) O

(B) {12
(C) {1,2911}

(D) {1, 29,15}

The relation R={a b):aq be Z and
a - b is divisible by 5}, where Z is the
set of all integers. Then R is

(A) symmetric only
(B) reflexive only
(C) not transitive

(D) an equivalence relation

4. o Gl W @ GTRI6 TN T’ T

26
(A) P ={a:a 2= qEE 40 T8}
(B) Q ={b:b = 5/l® I3 GF> P}

(C) R={c:c2e 2016 s T&
1BICT TR FAAIBER G0}

(D) S={d: d 2z TFICE 436 =}

1 I,

A={x:x, 21 &3 @> @b qlerd
AR}

GR B ={x:x <20, 43> ¥ gF [eame
T AR }

Ol(T B A A2H

(A) <
(B) {1,2}
(C) {1,2,9,11

(D) {12,915}

g6 @ R={ab):abeZ &X
a-b, 5 =<l i\-ﬂ@i} @R Z 23] Ao
T2 AT (Tp | O1=2Ce R A0

(A) wgEq Al
(B) Y@ P
(C) RS

(D) &b FTTgeTel T

SPACE FOR ROUGH WORK / ¥ J(&d &) SR5MN

[ PTO



7. Let f:R—>R and g:R—>R be

defined by f(x)=2x+1, g(x)=x2 -2
where R is a set of real numbers.
Then go f is

A) 2x2-3

(B) 4x2+4x-1

(C) 4x? - 4x

(D) None of the above

The domain of the function

X
y=2—

(A) (L )

is

(B) (=<2 2)
(C) (_ % 1) o (2’ °°)

(D) None of the above

The smallest positive integer n for

1+i)"
which (1) =1, is

—i
A) 1
(B) 2
© 3

(D) 4

7. f:R—>R € g:R— R 9TOl(] MBI

8.

9.

@A fl)=2x+1, gx)=x2 -2 @I
R =¥ IW WAIBPR ¢ O | O
ge f A

(A) 2x2%-3
(B) 4x2+4x-1
(C) 4x? - 4x

(D) TR (DR

y=—> WD RN
Jx? - 3x+2

e 2
(A) (L, )

(B) (-2
(C) e )U R )

(D) TR (@DR

@A OO INF TG MY n-9Gg G

1+i)"
[I—ZJ =13%, O 29

A) 1
(B) 2
(C) 3

(D) 4
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10. If
a+0x—22J2—&W+i_i
3+1i 3-i

then the real values of x and y are
given by

A x=-3,y=-1

B) x=3, y=-1

C) x=3,y=1

(D) x=1, y=-3

11. If o and B are the roots of the
equation (x — a)(x — b) = ¢, ¢ # 0; then
the roots of the equation
(x—0a)(x-B)+c=0 are

(A) aand c

(B) b and ¢

(C) aand b

(D) (a+ ¢ and (b+ ¢

10.

Bl
a+nx—zhjz—&w+i_i
3+1i 3-i

2 OR(E x 8 y GF VI I 297

A) x=-3,y=-1

B) x=3, y=-1

(C) x=3,y=1

(D) X:]_, y:—3

11. 3 (x - a@)(x - b) = ¢, ¢ # 0 FNTACH ¥

¥ o @R P W OEE
(x —o)(x - B)+c=0 ANFaCE I 7
2

(A) a9 ¢

(B) b ¥R ¢

(C) a9 b

(D) (a+ ¢ 9R (b+ 0

SPACE FOR ROUGH WORK / ¥ J(&d &«] SRI5MN
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12.

13.

14.

IfCy, Cy, Cy, -+, Cy5 are the binomial
coefficients in the expansion of
1+ x)'°, then

1
€, 20, 3C;  15C;s

Co C G Cia
is

(A) 120 (B) 130
(C) 140 (D) 150

3 1)’
If (xQ —) is expanded in
2 3x

descending powers of x, then the
7th term is given by

7

T

7x

B) -1

€) —

(D) —=

The number of different words
ending and Dbeginning with a
consonant which can be made out of
the letters of the word EQUATION is

(A) 5200
(B) 4320
(C) 4000

(D) None of the above

12. (1+ %P

13.

14.

g7 Rgfer  em 7RopTe
CO’CI’CQ,“'y C15 m

G, 2C, 3G  15Cs
Co C G, Cia
9T T 2

(A) 120 (B) 130
(C) 140 (D) 150

3 , 1Y
R (x —) a7 el x-99

2 3x
IO IAYSEFCH ATSICT 23, OIREeT G AU

(D) —

EQUATION @by (sl I92R I3
Tl [fen =@ (o 91 I AW 22
8 o 3¢l AygeRel 2Cq OICd IR 26

(A) 5200
(B) 4320
(C) 4000

(D) T°[cad (T2
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15. If "~'p,:"*1p; =5:12, then n is

16.

17.

(A) +7
(B) -7
(C) -8

(D) +8

Which one of the
statements is not true?

following

(A) The set of all rational numbers
does not form a group with
respect to multiplication.

(B) A group may have more than
one identity element.

(C) In a group, the inverse of the
inverse of an element is equal to
the element.

(D) The set S={-3,-2,-10,12 3}

is not a group with the
operation addition.

The inverse of i in the multiplicative
group {1, -1 i —1i} is

(A) 1
(B) -1
(C) i

(D) -t

15.

16.

17.

I molpyintlpy =5:12 =@,
n-9q I 29

(A) +7
B) -7
(C) -8

(D) +8

TR @ [Jrels Ao 1 2

(A) BTFER CACE A ow IR
G5 GFfb 552 77 |

(B) @3 2FA @07 @ 4FF T
qFCS AN |

(C) @I 2F7F @M TAmIeR [ediced
fJiare Tomet o3 TAmED foces |

(D) CISRFCETR ST
S={-3,-2,-1,0,12 3}
G 2P T |

SFRFCER ANCATE {1, — 1, 1, — i} FIf67 i @3
IREGICRRIGCITES

(A) 1
(B) -1
) i

(D) —i
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18.

19.

20.

Which of the following is not true?

(A) The Ilimit of a convergent
sequence is not unique.

(B) Every convergent sequence is
bounded.

(C) The {(1+(-D"} s

bounded but not convergent.

=)™ (n+ D}

Sequernce

(D) The

oscillates infinitely.

sequence

The series 1+i+i+i+-~- is
21 3! 4!

(A) divergent
(B) convergent

(C) neither divergent nor convergent

(D) None of the above

The 12th and 19th terms of a
harmonic progression are

respectively ; and 232 Then the 4th

term of the progression is

@ 2

(B)

Wi

(C)

Wl

(D)

18.

19.

20.

AT @G AT T2
(A) 3 SR SFeE GRS S

2RFCS AT |
(B) =fels Sfent S Sw[s 23|
(C) {1+(-1)"} @b  Snrm =

SRR T |
D) {(~)*(n+1)} AL EPITSCE

oscillate 23|
1+i+i+i+--- i

21 3! 4!
(A) 7Pl
(B) =il
(C) SPTR <1 SIS (IR T
(D) TR @FALE T
o f47(Are 2afeq 1299 *m € 1997 *m
ERIae ée;’Q 2lsifelby bW Ml 2e

3
(A) -
B) %

1
© 3
(D) -
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21.

22.

23.

-1
If S, =nP+ ”(”2 )

Q, where S, is

the sum of n terms of an arithmetic
progression, then its common
difference is

(A) P+0Q
(B) 2P + 30
(C) 20

(D) ©

If

=g S
r—ls‘m

then

gy -t
kN S 3
T

equals

(A) vV

(B) -V

(C) O

(D) None of the above

The equations
x+2y+3z=1
2x+y+3z=2

Sx+5y+9z=4

have

(A) unique solution

(B) infinitely many solutions

(C) no solution

(D) None of the above

21.

22.

23.

nn-1)

M S, =nP + Q =|, @A S,

G ANE 29T n AT I oI,
orzce 2aifefoa e =m®a 3@

(A) P+Q
(B) 2P +30Q
(©) 20
(D) Q
Ik
m n p
V=ln p m
1 1 1
23 O
1 m n
1 n p
1 p m
Gg NI 3¢9
@A) vV
(B) -V
(€) O
(D) TR @be T
x+2y+3z=1
2x+y+3z=2
Sx+5y+9z=4
Al

(A) G AU AR
(B) PR SN AR
(C) G NI ARFCH =1
(D) T°[cad (T2
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24. If 24. M
A 1 -1 B a 1 2 1 -1 B a 1
12 -1 | b -1 2 17 | b -1
and A’+B?=(A+B)?, then the @’ A%+ B?=(A+B)*> =, G a
values of a and b are respectively 3R b &F T 3F TAGFCH
A) 2, 2 A) 2, 2
B) 3, -2 (B) 3, -2
€ 1,4 C) 1, 4
(D) -4, 7 (D) -4, 7
25. If 25. M
c 0 c 0
A=|0 0 A=|0 0
0 0 ¢ 0 0 ¢
then the value of |adj A| is =7, Oz |adj A| €3 9
(a) c® a) 3
(B) c° (B) ¢°
(©) ¢’ (©) ¢°
(D) 7 (D) ¢
26. Ifsin®+sin’6 =1, then the value of 26. sinf+sin?0=1 BIGR
cos'? 6+ 3cos'®6+3cos®0+cos®6-1 cos'? 6+ 3cos!®0+3cos®O+cos®6-1
is equal to Gq 9 23
(A) O A) 0
B) 1 (B) 1
(C) -1 (C) -1
(D) 2 (D) 2

SPACE FOR ROUGH WORK / ¥ J(&d &«] SRI5MN
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27. The value of

(/3sin 75° — cos 75°)
is
A) 1
(B) 2

(©) 2
(D) 242

27. (V3sin 75° - cos 75°) gq T 29

A) 1
B) 2
(C) V2

(D) 242

28. Th ) 28. cos2x+asinx=2a-7 HAAPRITR
- The equation B ST AP T
cos2x+asinx=2a-7
possesses a solution if (A) a<2
(A) a<?2 B) 2<a<6
(B) 2<a<6 (C) a>6
C 6
(©) a> (D) a 93 @ @ =2 7= =7
(D) ais any integer
9. faFenfifes 7Niwa
29. The general solution of the 2 < B [\; 1 . i g 7 (z
trigonometrical equation cos X _o (L-sinx) 9 ne (2 ==
cosx=+3 (1-sinx) for ne Z (Z is ST SR CTE) @ T 1 A
the set of integers) is given by A) x=nntm
(A) x=nntmn
- B) x=nnt ki
B) x=nnt— 2
2
- _yE_T
(C) x=nu+ (1" -2 (€ x=nn+ (1" 2-¢
(D) x=mciE (D) x=m1;iE
3 3
SPACE FOR ROUGH WORK / ¥ (&S &« GRAN
/16 11 [ PTO



30. If c=sin! t, d=cos_1t;

31.

-1<t<1,
then the correct relationship is

(A) c+d=2

B) c—d=2

(C) c+d="2
2

T
(D) C—d—E

If A stands for the area of a triangle
ABC, then a?sin2B + b?sin2A is

equal to

(A) A
(B) 2A
(C) 3A

(D) 4A

30. I c=sin't, d=cos !t -1<t<1

77, OI2cE AT T 2@

(A) c+d=2

B) c—d=2

(C) c+d="
2

T
(D) C—dZE

31. IM ABC fqgred (vawel A ¥, O

a’sin2B + b2 sin2A &3 S+ 29

(A) A

(B) 2A

(C) 3A

(D) 4A

SPACE FOR ROUGH WORK / ¥ J(&d &«] SRI5MN

12



32. The area of the triangle formed by

33.

joining the centres of the circles
x? +y2 +2x+4y-4=0,
x? +y2 +6x+4y+9=0,
and x? +y? -4x-4y+2=0

is

(A) 4 sq. units
(B) 6 sq. units
(C) 8 sq. units

(D) 12 sq. units

The length of the chord intercepted
by the straight line 2x -y -3 =0 on
the parabola y2 =8x is

(A) 4 units

(B) 442 units

(C) 4+/5 units

(D) 5 units

32.

33.

x2+y2 +2x+4y-4=0,
x2+y2+6x+4y+9=0,
gR x2+y2—4x—4y+220

ge ot (FmTaa AN Fool T
fqoced CFaza

A) 4 35 ¢33

(B) 6 35f 455

(C) 8 35f 955

(D) 12 35 ¥

2x-y-3=0 ORI @ (Rne
y? = 8x wRcedn wl-«7 ey

A) 4 9%

(B) 442 ¢

(C) 45 9FF

(D) 5 9FF

SPACE FOR ROUGH WORK / ¥ J(&d &«] SRI5MN
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34.

35.

The equation of the conic

4x> —4xy+y2+2x—26y+9=0

represents the curve

(A) parabola
(B) ellipse
(C) hyperbola

(D) None of the above
The angle between the pair of

straight lines 5x? — 6xy + y? =0 is

(A) tan™! 1
3

(B) tan™!

wIN

(C) tan™! 3

(D) tan™! 1
2

34.

35.

4x? —4xy+y? +2x -26y+9=0
Fer @ I 0 FF O Z9

(a) i3S
(B) T
(©) “FrTS

(D) TR (T2

5x2 —6xy+y? =0 ASETCIARNCETH
TP (eI 23

(A) tan”! 1
3

(B) tan™! 2
3

(C) tan™' 3

(D) tan™! 1
2

SPACE FOR ROUGH WORK / ¥ J(&d &«] SRI5MN
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36. The equation of the plane which is

37.

parallel to the line
x-2 y-3 z-4
3 4 5

is

(A) 3x+4y+5z=7
B) 2x+y-2z=0
C) x+y-z=2

(D) 2x+3y+4z=0

The acute angle between the planes
2x-y+z=6and x+y+2z=7is

(A) m

(B)

T
© 3

(D)

36.

37.

x-2 y-3 z-4
3 4 5
AT NGNS e 5d ARG 2o

(A) 3x+4y+5z="7
B) 2x+y-2z=0
C) x+y-z=2

D) 2x+3y+4z=0

2X -Yy+2z=6 8 x+y+2z="7 SYLF
TR AN 2

(A) =

(B) —-

T
© 3

(D)

SPACE FOR ROUGH WORK / ¥ J(&d &«] SRI5MN
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38. The radius of the sphere 38. 2x’+y?+2z?%)-2x+4y-62=15
2x%+y?+2%) -2x+ 4y -62=15 (oI oR APT 231
is
i (A) T aF
(A) Vi1 units
2
(B) V11 @5
(B) 11 units
/1 1
11 . (C) |— =
(C) ,/— units 2
2
(D) None of the above (D) ™
39. The direction cosines of the line that 39. fofb wear > W (T T© GO
makes equal angles with three axes SRR (FPTes orwcsnD 26
in a space are
1 1 1
1 1 1 (A) £, £, £
(A) £, t, %2 333
37 3 3
6 2 3
6 ,2 3 B) £, £=, £ =
B) £t—, £+, = 7T 7
(B) 7T 7
1 1 1
1 1 1 C) £+, +——
@ttt R BN RN
o e[l s [3 L [T RS A R
7 14 14 7 14 14
SPACE FOR ROUGH WORK / ¥ (&S &« GRAN
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40.

41.

42,

The centre of the sphere which
passes through the points (0, O, 0),
(14, 0, 0), (O, 1, 0) and (0, O, 1) is

1 1 1
(A) Ty T s T )
2 2 2
111
(B) A’ A2 )
33 3
1 1 1
(C) T e T )
2 2 2
111
(D) N A2 )
2°2 2
The value of b for which the function

5x -4 , if O<x<1
4x2 +3bx , if 1<x<?2

f(X)={

is continuous at every point of its
domain, is

A) -1
(B) 0
€ 1

(D) None of the above

The value of

lim
is
A) 1
(B) V3
C) 3

(D) log, 3

40.

41.

42.

o, 0, 0, (1, 0, 0), (0, 1, 0) s
(0, 0, 1) KW ¢TI (T 22
1 1 1
W [-3-33)
111
® (333)
1 1 1
©) (2"2"2)
111
(D) (2’2’2)
b 99 @ W19 STy
Flx) = Sx -4 , I 0<x<1
| 4x? + 3bx , M 1<x<?2

THEF0 22 R AT ACHP
e %S o 7e

A) -1
(B) O
€)1
(D) TR @FAbE T

lim
n— oo

3345385 23|« =
(A) 1
(B) /3
(C) 3

(D) log.3

SPACE FOR ROUGH WORK / ¥ J(&d &«] SRI5MN
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43.

44,

45.

If the tangent of the curve x = at?,

Yy =2at is perpendicular to x-axis,
then its point of contact is

(A) (@ a)
(B) ©, a
(C) (@0
(D) ©,0)

x and y be two variables such that
x>0 and xy =1, then the minimum
value of (x+y) is

(A) 2
(B) 3
(C) 4

(D) O

According to the value

theorem

Floe)==——"—

mean

f (b) f (@

then

(A) a<x;<b
B) a<x;,<b
(C) a<x,<b

D) a<x,<b

43. IM x=at2,

44,

qwq
x-S e 7T =, wrRee SR 203

A) (@ q

y =2at

(B) G a9
©) (0

(D) 6,0

x @R y 7o eRI @A x>0 &
xy = 1. SR (x + y) 99 ¥ T4 2T

A) 2
B) 3
(C) 4

(D) O

45. TR T S

fb)- fla

fle) =

R

(A) a<x,<b

B) as<x;<b

(C) a<x;,<b

D) a<x;<b

SPACE FOR ROUGH WORK / ¥ J(&d &«] SRI5MN
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46.

If P(x) be a polynomial of degree 3,
P”0) =

with P0)=4, P’00)=3,
P”(0) =6, then p’(-1) equals to

(A) -10

4,

46. IM P(x) 9 @6 fqure q=om e
2y I2F P0)=4, P'(0)=3, P”(0) =4,
P"(0) = 6 91231 p’(~1) & A

(A) -10
()10 (B) 10
© 2 c) 2
(D) 1
D) 1
1+ x?
47. dx 1
II+X4 o a7 .‘-1+xidxﬁ?ﬂﬂ?¥®
1+ x
(A) tan'x+c
(A) tan ' x+c
(B) L‘Ean_1 ﬁ +C
c e B Lt (21
V2 x~2
(@] \étan_lx+c 1 1
(C) Etan_ x+C
(D) ;sec_1 x+C
(D) ;sec_1 x+C
48. The integral
J.o xf(sin x) dx 48. ISXf(Sinx) dx G S
equals
(A) ﬂfg f(sin x) dx (A) ﬂ_[o f(sin x) dx
T .
(B) g-‘.(? f(sin x) dx (B) EJ.O f(sin x) dx
© 5 J" flsinx) dx © 5[ flsin) dx
(D) = J.(;T f(cos x) dx D) = J(? f(cos x) dx
SPACE FOR ROUGH WORK / qF FI(&9 &« SaM
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2 )
49. The value of Jjn 1+sing dx is 49. fon 1+smg dx €39 T« 25

50. The area between the curve

51.

(A) O A) 0
(B) 2 (B) 2
© 4 (C) 4
(D) 8 D) 8

y=4+3x - x2 and the x-axis is 50. y=4+3x- x? IF 8 x-UCF VIO
LT (AT
125 . :
(A) —— sq. units
3 125

(A) == RGeS

(B) 1i5 sq. Uunits
(B) lis 3of 9%
(@)} 1265 sq. Uunits

(©) 125 39f 9T

(D) None of the above

The integral
J. , dx
51. =
1+ x)Vx s PN SR GO

is an

(A) improper integral of first kind (A) === T AT

(B) improper integral of second kind (B) fash asicas AP AT
(C) improper integral of mixed kind (C) T =PI HeF© el
(D) None of the above (D) TR (P2

SPACE FOR ROUGH WORK / ¥ J(&d &«] SRI5MN
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2’2

52. The value of ZB ( ) is

53.

54.

T
128

3n
128
n
128

15w
256

(A)

(B)

(€)

(D)

If r and s are respectively the order
and degree of the differential
equation

dx2

dzy °
2 5[ 2) 3
(d y}_i_ dx d’y o
dx

then
(A) r=3,s=3

B) r=3, s=2
(C) r=3,s=5

D) r=3,s=1

The solution of the differential

equation 2x Zi — y = 3 represents

(A) straight line
(B) circle
(C) parabola

(D) ellipse

52. 53(5 5

53.

54.

SEL:
2 272

128

3n
B) —=
128

©) 158

15n

(D) 256

=x2+1

IS ANFAC TG 8 TS JAGFCH 7 8 s
RV

(A) r=3,s=3
B) r=3, s=2
(C) r=3,s=5

D) r=3, s=1

2x£—y=3WW%WW@
TG A e, o1 2

(A) AT

(B) IS

(C) ks

(D) e

SPACE FOR ROUGH WORK / ¥ J(&d &«] SRI5MN

21

[ PTO



55. The slope of the tangent at (x, y) to a

curve passing through | 1, % is given

y

by = - cos? Y. Then the equation of
x x

the curve is

(A) y= xtan™! {log (ej}
x
B) y= tan ! {log (e)}
x
C) y= xtan™! {log [xj}
e

(D) None of the above

55. (1, Zj s @ WF (x, y) B

oz e 2w L —cos? Y. qwfiq
X X
ANFA =@

(A) y=xtan™? {log (e)}
x
B) y= tan™! {log (e)}
x
C) y= xtan™! {log (x)}
e

(D) TR @b2 T
56. The singular solution of the
i d
equation i 56. xp’ -yp+a=0 (p = de FRFCEI
2
xp® —-yp+a=0 =—
PP (p dx) I3 e 2=
is 5
(A) y* =2ax
() y® =2ax
(B) y* =4ax
(B) y* = 4ax
2 _
(C) x?=2ay (C) x7=2ay
(D) x? = 4ay (D) x? = 4ay
SPACE FOR ROUGH WORK / % FIC& &) TR
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57.

58.

59.

The complete solution of the
differential equation

2
a7y y—5@+6y=e4x
dx? dx

is

1
(A) y=C,e** +C,re’* + 5 et

(B) y=C,e** +C, e’ +e**
(C) y=Ce** +C, e’ +2e*
(D) None of the above

The integrating factor of the
differential equation

dy
— (x1 +y=2logx
. (xlogx)+y g

is given by
(A) e*

(B) logx

(C) log (log x)
D) x

Y ) A
The vectors a=3i -k, b =i+2j are
adjacent sides of a parallelogram,
then its area is

(A) V17 sq. units
(B) /14 sq. units

(C) /41 sq. units

(D) J7 sq. Units

57.

58.

59.

d’y . dy ax
?—554‘6]4:6 WW%

o)l S 25

(A) y=C,e** +C,e* + ; etx

(B) y=C,e?* + Cre’* +e™*
(C) y=C,e** +C,e’* +2e™

(D) TR (T2

(xlogx)+ y =2log x

) & &

A

B

RO AN BT 20
(A) e

(B) logx

(C) log (log x)

(D) x

4=3i-k b=i+2j 539 7H <
SRIEECP ARS 76 AT 207 @9 g
2@

(A) V17 3o 955
(B) 14 35 @5%
(C) V41 3l a5

(D) /7 35f 95

SPACE FOR ROUGH WORK / ¥ J(&d &«] SRI5MN
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60.

N
r

61.

62.

If
— - -
—ax(bxc)+bx(Exd+cx(dxb)
then
(A) 7 is a unit vector
B) 7=0
(C) 7=a+b+¢
(D) 7=(a+g+ 2)?
Let |d| =3 and |E| = 4. The value of A

for which d+ kg and Z—kg are

perpendicular is given by

(A) J_ri
G
© 2
o) -2

Vector multiplication of two vectors
is

(A) vector only
(B) scalar only
(C) a scalar or a vector

(D) None of the above

61.

(B)

©)

(D)

I
Ql

%

WS BICE |d|=3 4R |b|=4. L @7 @
N - N -
ACHE &0 d + Ab 9R d — Ab “R7R &%

O 247

o 53
B -2
© >
o) -3

62. 7D (ST (ST BT 27

(A) B9 (o3

(B) ®Y¥Iq (FeTR

(C) = TR T G (3]
(D) T°[Cad (FFD2

SPACE FOR ROUGH WORK / ¥ J(&d &«] SRI5MN
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~ A ~ e A A A
63. If ]_g =2zi + xj+ yk, then curl (curl ]_‘)) 63. I f =zi+ xj+ yk =, O

is equal to >
curl (curl f)

&7 T
(A) -1
(A) -1
N
(B) 0
B) o
(€)1
€ 1
D) i+ j+k
D) i+ j+k
64. If 7 =521 +tj-t°k and
~ n - 2% A, 37" ’
S =sinti - cost j, then the value of | 64 3fi r=>5ttittj-t'k s
£(7.§) is §=sintf—cost}' R, O g(?-3)
dt dt
9 T 25

(A) 5t2cost+11sint )
(A) 5t“cost+11sint

B 2 i
(B) (5t° +1)cost+ 11tsint (B) (52 +1)cost+11tsint

(C) (5t* —)cost+11tsint (C) (5t? —l)cost+11tsint

(D) None of the above (D) T @FMbe

SPACE FOR ROUGH WORK / ¥ J(&d &«] SRI5MN
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65. Which of the following statements is

66.

correct?

(A) The intersection of two convex
sets is not a convex set.

(B) A hyperplane is not a convex
set.

(C) The union of two convex sets
may or may not be a convex set.

(D) None of the above

Let the equation of the hyperplane is
3x;+2x, +4x3+6x, =7 and a
point A={6,1,7,2} is given. Then

(A) A lies on the hyperplane

(B) A lies in the open half space not
containing the origin

(C) A lies in the open half space
containing the origin

(D) None of the above

65. Ioe RYfosfer e @b 79 2

66.

(A) 76 Tee ¢Th @3 v 93 Tea i
el

(B) 9> ~RIPTIoe] Tesl (Tp =17 |

(C) 7> Tea o @ s @ T
T ZCS It SFIE 7€ 2O I |

(D) TR @Ebe

W W 3xl+2)C2+4xS+6)C4 :7
GFH [PISs €R A=1{6,17, 2} <«
omre | o

(A) A R[5 smPReeny Toea w1iEe

(B) Y& wHrri-99 @ e Yoy i@
CTRee A SRiEs

(C) T& wfor-a9 @ e Fefa e
CiEfiee A wHEs

(D) T°[cad (FFD2

SPACE FOR ROUGH WORK / ¥ J(&d &«] SRI5MN
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67. The basic solutions of the system of 67. X1+ Xq +2x53 =09,
linear equations x; + x, +2x3 =9 3x; +2x, +5x3 =22
and - 3x; +2X; +5x3 =22 are ot et o G SRS %
x, =45 0), x, =(-1,0,5) and N o !
_ . x; =45,0), X5 =(-10,95) GR
x3 =(0,1 4). Among these solutions 3 fora
the non-feasible basic solution is *3 :/(O’ L4 4 R S
SR (e ARG 281
(A) % =(%50)
(A) x=(4%50)
(B) x5 =(-1,0,9)
(B) x5 =(-10,9
(€) x3=014
(C) X3 = (07 17 4)
(D) None of the above
(D) TAEF @b
68. The geometric mean of 4, 6, 9 with
frequency 1, 2, 1 is 68. 1, 2, 1 RIS 4, 6, 9 «
A) 5 P RISRIRR IS 24
B) 6 (A) S
Q) 7 B) 6
D) 8 c 7
(D) 8
69. The highest value 97:5 of a set of
100 observations is changed to | 9. «3f6 100 & *Ritawcm B 7T I+
197-5. Then which of the following 97-5 (AT 197-5 @ “FAf6© 297 | wrage
statements is correct? S @ ﬁ?ﬂ%ﬁ% 5% 9
(A) Mean, median and mode are (A) SIS, T € TS T el
unchanged.
RISZEN
(B) Mean and median are changed
only. (B) ®gAIQ 9T € Y 7RSS 27 |
(C) Mean is raised by 1, median and (C) sced W\ 1 Jm oMd, T e
mode are unchanged. RTINS e ARG e |
(D) Median and mode are raised by (D) W= € RATERD I 1 I AT,
1, mean is unchanged. 1T IS AP |
SPACE FOR ROUGH WORK / ¥ (&S &« GRAMN
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70. Given Ix =12, Sy=4, 3x2 =16-20,

71.

Yy? =1.96, Zxy=5-2, n=10. The

correlation coefficient is

o 25

(B)

C) ——
(D) None of the above

If the standard deviation of 3, 5, 8,
7, 5, 7 is 1:675, then the standard
deviation of 25, 27, 30, 29, 27, 29
will be

70. Zx =12,

71.

Sy =4, ¥x? =16-20,
Yy?=1.96, Exy=5-2, n=10 WS |
Gq 2T BT 2]

25

(A)

(B)

€) ——

(D) T°[Caq (T2

3,5, 8,7, 5 7 93 5 “NLF 1675
2 25, 27, 30, 29, 27, 29 &I N
12 2

(A) 1-675 (A) 1675
(B) 3:35 (B) 3-35
(C) 22:675 (C) 22:675
72. The product of the two regression .
coefficients b,, and b, is equal to 72. Eﬁ% T BT by IR Dy 1 G
(B) r (B) r
(C) r2 (C) r?
(D) None of the above (D) T @FMbe
SPACE FOR ROUGH WORK / ¥ (&S &« GRAN
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73.

74.

75.

From 4 apples, 2 mangoes and 4
bananas, 4 are selected. The
probability that there are exactly 2
apples among the selected fruits is

) >

11
21
10
21
(D) None of the above

(B)

(C)

The probability of occurrence of an

event is S The probability of non-

. 5
occurrence of the event B is 'ER The

probability that at least one of them
will occur is

@ 2
B 2
© 3
D) oo

In a throwing of two unbiased dice,
the probability that the sum of the
points on the two dice will be
multiple of 4 is

1
(A) 9
1
(B) 3
1
(C) 2

(D) None of the above

73.

74.

75.

4 5 =eee, 2 16 = @R 4 6 Fe (AT
o6 =B Fq TS | AT T TR
e 2 6 eos AFE TSRl =6

(A) -
11
21
10
21
(D) Tocad @Mbe

(B)

(€)

o o S
@ G5B qoT O TG 5 Soiftean

< B TR TR <o g A
WS 7[CF G AOF TR 29

(€)

D) oo

735 @R seeR =@l (2ol wE 3
2FE points ¥ @A 4 97 BT
26qT TR T

(A)

(B)

D= W~ O]+~

©)

(D) T°[cad (FFD2

SPACE FOR ROUGH WORK / ¥ J(&d &«] SRI5MN

20

[ PTO



SPACE FOR ROUGH WORK / I SS9 Sy Sl

30



SPACE FOR ROUGH WORK / I SS9 Sy Sl

31

I PTO.



READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

feraferiRie et sicet e =g -

1.

10.

11.

12.

13.

Out of the four alternatives for each question, only one circle for the correct answer is to be darkened
completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be
changed.

2fsfb aem Ten f2Mca @ vl [ew redl e @l (A0S wgEIa wm TeAta 2AfFce OMR Seweica red gefb et
TRIED P A TJofmee FIcE P e Fa0e 2@ | 9397 Tad Hfee 391 2@ (Ol I WH A 31 A0 1 |

The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except at the specified space on the OMR Answer Sheet.
AR (Feds OMR Te97[@b ©1& F9¢a= 1l | OMR T@R7ICd (SR w9l FI6l 91 T8 (@141 A 01 | A
ST (A1 R Tegeicy e 1 SRl =1l Sl (el SRR forLea T o |

Handle the Question Booklet and Answer Sheet with utmost care, as under no circumstances (except
technical defect), another set of Question Booklet and OMR Answer Sheet will be provided.

OMR T@a7l@ 3 2H7[Cad I92ICa ANAE o] ST IS 203 | (P e (U @b ¢ “Mafesre @b =e)) OMR
TeeIq ¢ 2%7@ b (RSl A A |

The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the
Attendance Sheet.

RN SHCHCS Ab-9 $F OMR TSA7Cad R IR 2P7[0aq 5 frgerercd fordce 23 |

Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile

phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.

REFIRNCE SHCHE FIE G2 FCHI SACTADID FIS BN SF (@I Z2C] Tl T TG, 751 6 JUOSTS TN, (&, (A2
I, ST (PR g1 o2 e 2R 2031 /FCF 20 FACo e 263 1 |

Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator/Examination Officials.

AP 203 SSTGCEDA T (AT AAF (FCHA Tocq #RF-RRE AGFRE FEF W7 T 2@ A0oF ~ArHIA OF SHIefis
G 8 FCHI SABCTADI IE (THICS 0 AP |

No candidate, without special permission of the Centre Superintendent or Invigilator, should change his/her
seat.

CTOR A7RACHACTD N BASIECEoT-97 RO SRHie =Iol =R 7R 203 O P 2 ~A[ada 0o R 1 |

Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after
taking their seats in the Examination Hall/Room and second at the time of handing over their OMR Answer
Sheet to the Invigilator.

AR TASGCABER (1SN SHCHCTH #Mo-9 [2IF FHF FACO B(F, AR ~(A5F] 20o1 SO SPF 220H 2R G9R
ORRT SeefEcabea fP6 OMR TeR7q Sl (T&AF 3 |

The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet
to the Invigilator on duty and without signing the Attendance Sheet twice. Cases where a candidate has not

signed the Attendance Sheet a second time will be deemed not to have handed over the Answer Sheet and
dealt with as an unfair means case.

SICOCD Hh-9 (2R R 1 G2 FEITS SASIGEDR-G7 71 Teao[@ Tl (e Aore (Al A 2 29 @yl
FACS PRCIA 1 | AW (T 2RI SCHCS™ Ao-«9 G2 FrF ] FC ©Cd fofl O OMR Tea7[@ Sl FCaTiel q¢e 91977
203 R O b PR AT 1 2 |

Use of any type of calculating device is prohibited.
@ CPICA 40T FTFCIBCIR 2 S7jefeqce] foifdm |

The candidates are governed by all the rules and regulations of the Board with regard to their conduct in the
Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.

[P 751 /FCRT A AR ALK @G FREN € el SRl vifeTe 7eq | YK 4qe Seibe IR @ees R 6
ferciel SR e =3 |

No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.
(Il TAFCSR 2P7M@ 933 OMR  TER#CE] (FIC S (=TI A1 S 411 ACT 1 |

On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in the
Hall/Room. The candidates are allowed to take away the Question Booklet with them.

R (T TSR A R TR M OMR TEHIE ISR IS ECEHCAA FICE G (R | R 2perafs SR
e e QS #ATea |
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